

County Distribution Detail Report through 03/04/2024

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	811	2,215	31	3,057	\$3,821.25	\$103.39	\$3,717.86	0.70	\$2,602.50
							Entity Tota	l:	\$2,602.50
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,602.50
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,814	11,672	523	15,009	\$18,761.25	\$394.01	\$18,367.24	0.70	\$12,857.07
							Entity Tota	ıl:	\$12,857.07
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$12,857.07
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	812	1,289	3	2,104	\$2,630.00	\$58.50	\$2,571.50	0.70	\$1,800.05
							Entity Tota	l:	\$1,800.05
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,800.05
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,430	4,461	78	5,969	\$7,461.25	\$150.74	\$7,310.51	0.70	\$5,117.36
							Entity Tota	l:	\$5,117.36
							Adjustmen	t:	\$0.00

Total Amount:

\$5,117.36

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	8,661	24,038	1,360	34,059	\$42,573.75	\$887.93	\$41,685.82	0.70	\$29,180.07
							Entity Tota	al:	\$29,180.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$29,180.07
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	7,088	29,222	1,074	37,384	\$46,730.00	\$1,007.80	\$45,722.20	0.70	\$32,005.54
							Entity Tota	al:	\$32,005.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,005.54
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,030	4,057	86	6,173	\$7,716.25	\$156.14	\$7,560.11	0.70	\$5,292.08
							Entity Tota	al:	\$5,292.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,292.08
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	537	500	0	1,037	\$1,296.25	\$25.96	\$1,270.29	0.70	\$889.20
							Entity Tota	al:	\$889.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$889.20
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,843	7,355	87	9,285	\$11,606.25	\$249.39	\$11,356.86	0.70	\$7,949.80

							•		•
							Total Amo	unt:	\$7,949.80
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	543	1,460	19	2,022	\$2,527.50	\$57.80	\$2,469.70	0.70	\$1,728.79
							Entity Tota	al:	\$1,728.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,728.79
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,122	6,029	17	8,168	\$10,210.00	\$206.87	\$10,003.13	0.70	\$7,002.19
							Entity Tota	al:	\$7,002.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,002.19
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	19	3,098	24	3,141	\$3,926.25	\$78.69	\$3,847.56	0.70	\$2,693.29
							Entity Tota	al:	\$2,693.29
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,693.29
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	486	3,438	112	4,036	\$5,045.00	\$115.22	\$4,929.78	0.70	\$3,450.85
							Entity Tota	al:	\$3,450.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,450.85
City of Pierre, Hugh	es Co.								

Entity Total:

Adjustment:

\$7,949.80

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,792	12,143	803	15,738	\$19,672.50	\$417.66	\$19,254.84	0.70	\$13,478.39
							Entity Tota	ıl:	\$13,478.39
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13,478.39
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	3,479	34,327	2,781	40,587	\$50,733.75	\$1,040.83	\$49,692.92	0.70	\$34,785.04
							Entity Tota	ıl:	\$34,785.04
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$34,785.04
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	977	2,702	72	3,751	\$4,688.75	\$102.07	\$4,586.68	0.70	\$3,210.68
							Entity Tota	ıl:	\$3,210.68
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,210.68
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,337	8,203	232	9,772	\$12,215.00	\$262.02	\$11,952.98	0.70	\$8,367.09
							Entity Tota	ıl:	\$8,367.09
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,367.09
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	5,369	21,548	954	27,871	\$34,838.75	\$747.09	\$34,091.66	0.70	\$23,864.16
							Entity Tota	ıl:	\$23,864.16
							Adjustmen	t:	\$0.00

							Total Amou	unt:	\$23,864.16
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	764	1,108	428	2,300	\$2,875.00	\$59.84	\$2,815.16	0.70	\$1,970.61
							Entity Tota	l:	\$1,970.61
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,970.61
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,753	6,926	59	9,738	\$12,172.50	\$275.60	\$11,896.90	0.70	\$8,327.83
							Entity Tota	l:	\$8,327.83
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,327.83
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	3,658	15,669	660	19,987	\$24,983.75	\$522.30	\$24,461.45	0.70	\$17,123.02
							Entity Tota	l:	\$17,123.02
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$17,123.02
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,514	3,877	92	5,483	\$6,853.75	\$142.25	\$6,711.50	0.70	\$4,698.05
							Entity Tota	l:	\$4,698.05
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,698.05
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,273	3,256	106	4,635	\$5,793.75	\$120.15	\$5,673.60	0.70	\$3,971.52

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,971.52
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	983	2,288	9	3,280	\$4,100.00	\$85.10	\$4,014.90	0.70	\$2,810.43
							Entity Tota	al:	\$2,810.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,810.43
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	976	3,176	55	4,207	\$5,258.75	\$106.82	\$5,151.93	0.70	\$3,606.35
							Entity Tota	al:	\$3,606.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,606.35
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,448	5,265	26	7,739	\$9,673.75	\$202.58	\$9,471.17	0.70	\$6,629.82
							Entity Tota	al:	\$6,629.82
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,629.82
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	605	1,613	52	2,270	\$2,837.50	\$57.30	\$2,780.20	0.70	\$1,946.14
							Entity Tota	al:	\$1,946.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,946.14
Grant									

Entity Total:

\$3,971.52

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,479	5,837	291	7,607	\$9,508.75	\$224.36	\$9,284.39	0.70	\$6,499.07
							Entity Tota	l:	\$6,499.07
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,499.07
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,419	3,668	10	5,097	\$6,371.25	\$147.21	\$6,224.04	0.70	\$4,356.83
							Entity Tota	l:	\$4,356.83
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,356.83
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	855	1,431	3	2,289	\$2,861.25	\$57.96	\$2,803.29	0.70	\$1,962.30
							Entity Tota	l:	\$1,962.30
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,962.30
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,177	4,388	125	5,690	\$7,112.50	\$145.41	\$6,967.09	0.70	\$4,876.96
							Entity Tota	l:	\$4,876.96
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,876.96
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	881	2,771	54	3,706	\$4,632.50	\$101.38	\$4,531.12	0.70	\$3,171.78
							Entity Tota	l:	\$3,171.78

	Adjustment:	\$0.00
	Total Amount:	\$3,171.78
Hanson		

Hanson									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	659	3,279	76	4,014	\$5,017.50	\$113.31	\$4,904.19	0.70	\$3,432.93
							Entity Tota	al:	\$3,432.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,432.93
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	593	886	1	1,480	\$1,850.00	\$47.49	\$1,802.51	0.70	\$1,261.76
							Entity Tota	al:	\$1,261.76
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,261.76
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	494	3,377	322	4,193	\$5,241.25	\$141.15	\$5,100.10	0.70	\$3,570.07
							Entity Tota	al:	\$3,570.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,570.07
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,270	5,627	81	7,978	\$9,972.50	\$202.46	\$9,770.04	0.70	\$6,839.03
							Entity Tota	al:	\$6,839.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,839.03
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2024	543	1,087	12	1,642	\$2,052.50	\$41.61	\$2,010.89	0.70	\$1,407.62
							Entity Tota	al:	\$1,407.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,407.62
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	539	951	16	1,506	\$1,882.50	\$37.99	\$1,844.51	0.70	\$1,291.16
							Entity Tota	al:	\$1,291.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,291.16
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	672	1,482	29	2,183	\$2,728.75	\$54.81	\$2,673.94	0.70	\$1,871.76
							Entity Tota	al:	\$1,871.76
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,871.76
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	412	747	4	1,163	\$1,453.75	\$29.79	\$1,423.96	0.70	\$996.77
							Entity Tota	al:	\$996.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$996.77
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	715	4,115	301	5,131	\$6,413.75	\$144.32	\$6,269.43	0.70	\$4,388.60
							Entity Tota	al:	\$4,388.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,388.60

_	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,078	9,765	263	12,106	\$15,132.50	\$335.71	\$14,796.79	0.70	\$10,357.75
							Entity Tot	al:	\$10,357.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$10,357.75
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	5,724	19,969	377	26,070	\$32,587.50	\$698.17	\$31,889.33	0.70	\$22,322.53
							Entity Tot	al:	\$22,322.53
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$22,322.53
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,763	28,045	2,412	33,220	\$41,525.00	\$965.87	\$40,559.13	0.70	\$28,391.39
							Entity Tot	al:	\$28,391.39
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,391.39
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	986	1,925	370	3,281	\$4,101.25	\$87.96	\$4,013.29	0.70	\$2,809.30
							Entity Tot	al:	\$2,809.30
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,809.30
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,209	3,234	91	4,534	\$5,667.50	\$129.18	\$5,538.32	0.70	\$3,876.82

							Littly 10to		ψο,οι σ.σ2
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,876.82
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,492	4,615	47	6,154	\$7,692.50	\$159.90	\$7,532.60	0.70	\$5,272.82
							Entity Tota	ıl:	\$5,272.82
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,272.82
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	785	1,647	5	2,437	\$3,046.25	\$75.01	\$2,971.24	0.70	\$2,079.87
							Entity Tota	ıl:	\$2,079.87
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,079.87
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,502	21,112	239	23,853	\$29,816.25	\$648.51	\$29,167.74	0.70	\$20,417.42
							Entity Tota	ıl:	\$20,417.42
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$20,417.42
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	501	780	30	1,311	\$1,638.75	\$33.10	\$1,605.65	0.70	\$1,123.96
							Entity Tota	ıl:	\$1,123.96
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,123.96

Miner

Entity Total:

\$3,876.82

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	820	1,793	25	2,638	\$3,297.50	\$68.17	\$3,229.33	0.70	\$2,260.53
							Entity Tota	al:	\$2,260.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,260.53
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	30,160	165,651	7,194	203,005	\$253,756.25	\$5,583.63	\$248,172.62	0.70	\$173,720.83
							Entity Tota	al:	\$173,720.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$173,720.83
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	814	5,200	142	6,156	\$7,695.00	\$175.21	\$7,519.79	0.70	\$5,263.85
							Entity Tota	al:	\$5,263.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,263.85
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	18,670	93,202	5,342	117,214	\$146,517.50	\$3,157.22	\$143,360.28	0.70	\$100,352.20
							Entity Tota	al:	\$100,352.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$100,352.20
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,514	2,421	9	3,944	\$4,930.00	\$109.70	\$4,820.30	0.70	\$3,374.21
							Entity Tota	al:	\$3,374.21
							Adjustmer	nt:	\$0.00

							Total Amount:		\$3,374.21
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	874	1,949	8	2,831	\$3,538.75	\$71.23	\$3,467.52	0.70	\$2,427.26
							Entity Tota	al:	\$2,427.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,427.26
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	2,730	5,599	34	8,363	\$10,453.75	\$235.37	\$10,218.38	0.70	\$7,152.87
							Entity Tota	al:	\$7,152.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,152.87
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	662	1,910	14	2,586	\$3,232.50	\$67.62	\$3,164.88	0.70	\$2,215.42
							Entity Tota	al:	\$2,215.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,215.42
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,485	4,883	147	6,515	\$8,143.75	\$168.74	\$7,975.01	0.70	\$5,582.51
							Entity Tota	al:	\$5,582.51
							Adjustmer	nt:	\$0.00
							Total Amount:		\$5,582.51
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	581	2,438	74	3,093	\$3,866.25	\$82.09	\$3,784.16	0.70	\$2,648.91

							Adjustment:		\$0.00
							Total Amount:		\$2,648.91
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	507	1,304	5	1,816	\$2,270.00	\$46.66	\$2,223.34	0.70	\$1,556.34
							Entity Tota	al:	\$1,556.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,556.34
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	0	144	0	144	\$180.00	\$13.67	\$166.33	0.70	\$116.43
							Entity Tota	al:	\$116.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$116.43
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,889	4,250	8	6,147	\$7,683.75	\$156.51	\$7,527.24	0.70	\$5,269.07
							Entity Tota	al:	\$5,269.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,269.07
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,445	6,943	142	8,530	\$10,662.50	\$219.79	\$10,442.71	0.70	\$7,309.90
							Entity Tota	al:	\$7,309.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,309.90
Union									

Entity Total:

\$2,648.91

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,817	12,170	584	14,571	\$18,213.75	\$450.22	\$17,763.53	0.70	\$12,434.47
							Entity Tota	l:	\$12,434.47
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$12,434.47
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	1,375	3,937	398	5,710	\$7,137.50	\$145.00	\$6,992.50	0.70	\$4,894.75
							Entity Tota	l:	\$4,894.75
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,894.75
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2024	3,740	19,113	397	23,250	\$29,062.50	\$631.41	\$28,431.09	0.70	\$19,901.76
							Entity Tota	l:	\$19,901.76
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$19,901.76
TOTALS	157,955	684,580	29,425	871,960	\$1,089,950.00	\$23,638.95	\$1,066,311.05		